

VENDOR

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

## Request for Quotation

FLRCOV07

PAGE	is.e	
1		

ADDRESS CORRESPONDENCE TO ATTENTION OF

BETTY FRANCISCO 304-558-0468

\*709022048 304-562-6977 CUSTOM CARPETS INC PO BOX 173 713 ORCHARD PARK DRIVE HURRICANE WV 25526

2.2	·~.	
2.2		
14	Ö.	
14	Ö:	
14	Ö:	
1	Þ.	
1	Þ.	
3	Þ	
	Þ	
	Þ	
	Þ	
	Þ	
	Þ	
	Þ	
	Þ	
	Þ	
	Þ.	
	Þ.	
	P T	
	P T	
	P	
	P	
	P	
	P	
	P	
	P	
	P	
	P T	
	P T	
	P	
	P	
	P	
	P O	
	P O	
	P O	
	P T O	
	P	
	P	
	P O	
	P O	
	P	
	P	

DATEPRIN			NIS OF SAL		SMIP			FREIGHT TERIVIS
07/25/							L	
BID OPENING DATE:	1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	08/22/	2006	Lagrana a assaul	r teeta italiaj proteka ilpus ileete ile	BID	OPENING TIME	01:30PM
LINE	QUAI	VTITY	UOP	CAT, NO.	ITEM NUI	MBER	UNIT PRICE	AMOUNT
				REQ	UEST FOR	QUOTATI	ON	
1	1			I			ACT TO PROVIDE	
T de la constanta de la consta	1			l	VINYL TI		ALL WEST SUBIDIVISIONS.	
	VIKGIN	TA SIA	IE AG	ENCIE	S AND PUL	IIICAL	POPIDIAI2IOM2.	
	*****	*****	****	**NOT	ICE****	*****	*****	
	A MAND	ATORY	PRE-B	ID ME	ETING IS	SCHEDUL	ED FOR	
					9, 2006 A			
					, EAST, C		SION OFFICES,	
	1	f		I	OF THE CA		2	
	1	:	1	1 1			BE REPRESENTE	D
	1	i		ŧ .			E MANDATORY	
	1	}		i 1			TIC DISQUALIFI	
	CATION VENDOR	Į.	UNE P	ERSUN	CAN REPR	ESENI M	ORE THAN ONE	
	ATTACH	MENTS:						
1	2. PRI		AGES				, 17 PAGES. BE SIGNED	
	NOTE:		:		N ON THE RE NOT TO		PAGES ARE	
	WANTED-BEEFFE STEELING AND			1	F FUTURE			
	***************************************							
	700							
		LA SISSERARA PA	ridada valid in Luin	· egg bev	ERSE SIDE FOR T	EDMG AND CO	NOTIONS	
SIGNATURE	sagay tangny gaftirfy.		<u> </u>	OEE ME	EUOE SINE LOU!	TELEPHONE		DATE
TITLE		FE	<b>I</b> N				ADDRESS CHAI	NGES TO BE NOTED ABOVE
L							IN ODAGE ADOVE LA	



### Request for Quotation

DATE PRINTED TERMS OF SALE SHIP VIA F.O.B. FREIGHT TERMS

RFQ NUMBER FLRCOV07

ADDRESS CORRESPONDENCE TO ATTENTION OF:

BETTY FRANCISCO 304-558-0468

**\*709022048** 304-562-6977 CUSTOM CARPETS INC PO BOX 173 713 ORCHARD PARK DRIVE **HURRICANE WV 25526** 

100000
1.0
2.55555
1000000
1.5 4 4
100
100
1 0 1
100000
100 200
1
100
1 1
1000000
1000
100000000000000000000000000000000000000

07/25/	2006						
BID OPENING DATE:	08/22/	Transferred (1997) 1997 (1997) 1997 (1997)	Farnese transaction of the constant	BID	OPENING	TIME 0	1:30PM
LINE	QUANTITY	UOP CAT.	ITEM NUM	BER	UŅIT	PRICE	AMOUNT
0001	1 MODULAR AND		360-10 T AND VIN	YL COMP	OSITION	TILE	
	ANY RESULTIN RATE BY THE BE COVERED, SQUARE FEET	SQUARE FEE WHICH WILL	T OF THE I	FLOOR A LESS T	REA TO		
	ALL QUOTED PALL SHIPPING DESTINATION \$250.00, TRA SEPARATELY, TO THE INVOIMATERIAL ONL AT A SOURCE NOTE: THIS NOTE: STRIN REGULATIONS	CHARGES I SHALL BE \$ NSPORTATIO WITH THE O CE. AGENC Y THAT FAL TO AVOID T APPLIES TO GING ORDER	NCLUDED II 250.00. N CHARGES RIGINAL FI IES MAY M L UNDER TI HE DELIVEI PURCHASE S TO CIRC	N THE Q FOR ORD MAY BE REIGHT AKE PUR HE \$250 RY CHAR OF PRO UMVENT	UOTED PR ERS LESS INVOICE BILL ATT CHASES O .00 LIMI GES. DUCT ONL	ICE. THAN D ACHED F T	
	BIDDERS MUST THE ITEMS QU THAT DEVIATE MARKED AND T BE NOTED.	OTED MEET FROM THE	SPECIFICATE SPECIFICATE	TIONS. TIONS M	ITEMS B UST BE S	ID O	
	IMPORTANT PRICING SCHE SIGNATURE ON DISQUALIFIED	DULE MUST THE PRICI	1		1		
	AFTER THE PR		-		History and the same of the sa	BE	
SIGNATURE		SEE RE	VERSE SIDE FOR TE	RMS AND COI	NDITIONS	DATE	
				+ CCCF PO(VC		DATE	
TITLE	F	EIN			ADD	RESS CHANGE	S TO BE NOTED ABOVE
\A/I 1	ENI DESDONIDINIO	TO DEO INCED	T NIANAT AND	ADDDECC	IN CDACE AL	OVETABEL	ED 'VENDOD'



### Request for Quotation

FLRCOV07

ADDRESS CORRESPONDENCE TO ATTENTION OF::::

BETTY FRANCISCO 304-558-0468

\*709022048 304-562-6977 CUSTOM CARPETS INC PO BOX 173 713 ORCHARD PARK DRIVE **HURRICANE WV 25526** 

1
1
Later 1
1020
1 4
1 4
14
1+1
1
1
1
Ī
Ţ
Ţ
T
T
T
T-0
Ť
Ť
† 0
T O
T O
T-0
+ 0
T O
T O
T-0
† 0
T O
† 0
T 0
T 0
T 0
T 0

DATEPRIN	ΓED	TER	MS OF SALE		SH	IP VIA	F.O.B	FREIGHTTERMS
07/25/	2006							
BID OPENING DATE:		08/22/	2006			BID	OPENING TIME	01:30PM
LINE	QUAI	VTITY	UOP	CAT NO.	ITEM I	NUMBER	UNIT PRICE	AMOUNT
	ISSUED RECEIV		ANSWER	s то	ALL WR	ITTEN QUE	STIONS	
1	AN ELE AFTER		I .			OOCUMENT)	WILL BE	
	EXHIBI	Т 3						
	NECESS ORIGIN NOT EX TIME"	R UNTI ARY TO AL CON CEED T THE VE UPON	AND L SUCH OBTAI TRACT. WELVE NDOR M GIVING	EXTE "RE N A TH (12)	NDS FOR ASONABLI NEW CON' E "REASO MONTHS ERMINATO	A PERIOD TIME" T TRACT OR DNABLE TI DURING THIS CO	MES EFFECTIVE OF ONE (1) HEREAFTER AS I RENEW THE ME" PERIOD SHA THIS "REASONA NTRACT FOR ANY CHASING 30 DAY	S LL BLE
	IN THI	S CONT G SET	RACT D	OCUM	ENT, THI	E TERMS,	TED ELSEWHERE CONDITIONS AND FE OF THE	
	WRITTE SUBMIT DAYS P BE IN ORIGIN	N CONS TED TO RIOR T ACCORD	ENT OF THE D O THE ANCE W TRACT	THE IREC EXPI ITH	SPENDII TOR OF I RATION I THE TERI	NG UNIT A PURCHASIN DATE. SU MS AND CO	UPON THE MUTUAND VENDOR, G THIRTY (30) CH RENEWAL SHANDITIONS OF TH	LL E
į.	RIGHT NOTICE	TO CAN TO TH	CEL TH E VEND OF AN	IS C OR I INF	ONTRACT F THE CO ERIOR QU	IMMEDIAT DMMODITIE JALITY OR	NG RESERVES TH ELY UPON WRITT S AND/OR SERVI DO NOT CONFOR	EN CES
SIGNATURE				SEE REV	EHSE SIDE FO	R TERMS AND CON	<u>aine aine a d'impire a comhaidh aintidiúil aith aintain ainteach a airti</u>	DATE
SIGNATURE						ILECEPHONE		DATE
TITLE		FE	IN				ADDRESS CHA	NGES TO BE NOTED ABOVE
18/11	ENDEOD	ONIDINIO :	TO DEO	MOED.	T NIANATT AND	D ADDDECC	IN SPACE AROVE LA	DELED WENDOD!



### Request for Quotation

DATE PRINTED TERMS OF SALE SHIP VIA F.O.B.

RFO NUMBER
FLRCOV07

PAGE 4

ADDRESS CORRESPONDENCE TO ATTENTION OF ...

BETTY FRANCISCO 304-558-0468

\*709022048 304-562-6977 CUSTOM CARPETS INC PO BOX 173 713 ORCHARD PARK DRIVE HURRICANE WV 25526

	٠.		
		.46	
-1	٠.		
ı		b. 1	41
ŀ			41

07/25/	2006									
BID OPENING DATE:	·	08/22/	2006	and and a real residence		BID	OPENING	TIME	01	:30PM
LINE	QUAN	TITY	UOP	CAT. NO.	ITEM NU	VIBER	UN	IT PRICE		AMOUNT
	OPEN M	ARKET	CLAUS	IONS E: TH	OF THE BI E DIRECTO NIT TO PU	IR OF PU	RCHASIN	G MAY	•	
	ESTIMA	TE, IT	EMS S	PECIF	LING OF A IED ON TH EMERGENCI	IS CONT	RACT FO	R		
	CAUSES	(INCL ION OR	UDING	BUT	NOT LIMIT	ED TO D	ELAYS I	N TRANS	<del></del>	
	APPROX THE ST THAT T ORDERE	IMATIO ATE SP HE CON D FOR	NS ON ENDIN TRACT DELIV	LY, B G UNI SHAL ERY D	LISTED I ASED ON E T. IT IS L COVER T URING THE HAN THE G	STIMATE UNDERS HE QUAN TERM O	S SUPPL TOOD AND TITIES A F THE CO	IED BY D AGREE ACTUALL ONTRACT	D Y	
	AGENCI TO THE	ES SHA CONTR	LL IS ACT V	SUE A ENDOR	DERS \$100 WV-39 BL FOR THE O THE PUR	ANKET R DESIRED	ELEASE   ITEM(S	ORDER,		
	FORWAR DISCRE	D FOR TION O	REVIE F THE	W BY DIRE	\$100,000 THE PURCH CTOR OF F EMENTS MA	ASING DURCHASI	IVISION NG, OR I	. AT T		
	FOR BA	NKRUPT	CY PR	OTECT	ENT THE VION, THIS	CONTRA	CT IS A	ITAMOTU		
	SHALL	SUPERS	EDE A	NY AN MAY A	NS CONTAI D ALL SUE PPEAR ON	SEQUENT ANY ATT	TERMS A	AND		
SIGNATURE		propositedi de bakil Propositedi	%:4536148148 <u>146</u>	SEE RE	VERSE SIDE FOR T	ERMS AND CON	NOITIONS	openione de la composition della composition del	ATE	
TITLE		FE	IN				AĐ			TO BE NOTED ABOVE
\\/\	EN DESD	UNDING .	TO REO	INISED	T NAME AND	ADDRESS	IN SPACE A	AROVE LAP	RELE	D 'VENDOR'



YENDOR

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

# Request for Quotation

FLRCOV07

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF:

BETTY FRANCISCO 304-558-0468

\*709022048 304-562-6977 CUSTOM CARPETS INC PO BOX 173 713 ORCHARD PARK DRIVE HURRICANE WV 25526

10000	
100 100	
2	
1 P	
1 -	
100,000	
10	
10	
Ю	
О	
Ó	
O	
O	
O	
O	
Ó	
o	
o	
Ó	
Ó	
Ó	
o	
Ó	
o	
o	
o	
o	

DATE PRIN	TED	TER	MS OF SAL	t.	SHIP V	JA	F,O.B.		FREIGHTTERMS
07/25/	2006								
BID OPENING DATE:		08/22/	2006			BID	OPENING TI	ME 01	:30PM
LINE	QUAI	VTITY	UOP	CAT. NO.	ITEM.NUM	/BER	UNIT PR	ICE	AMOUNT
	AGREEM	ENTS 0	R MAI	PRIC NTENA		MENTS,	ORMS, SALE INCLUDING		
Total Control of the			VEND	OR PR	EFERENCE	CERTIFI	CATE		
	PREFER	ENCE I	N ACC	ORDAN	CE WITH W	EST VIR	BY MADE FO GINIA CODE N CONTRACT	,	
		PLICAT CHECK	l :	S MAD	E FOR 2.5	% PREFE	RENCE FOR	THE	
	HAS RE	SIDED	CONTI MEDIA	NUOUS TELY	LY IN WES	T VIRGI	VENDOR AN NIA FOR FO TE OF THIS	JUR	
	TION R QUARTE WEST V THE DA INTERE PARTNE WHO HA OF BUS YEARS	ESIDEN RS OR IRGINI TE OF ST OF RSHIP, S MAIN INESS	T VEN PRINC A FOR THIS BIDDE ASSO TAINE CONTI	DOR A IPAL FOUR CERTI R IS CIATI D ITS NUOUS PREC	ND HAS MA PLACE OF (4) YEAR FICATION; HELD BY A ON OR COR HEADQUAR	INTAINE BUSINES S IMMED OR 80% NOTHER PORATIO TERS OR T VIRGI	TION OR COD ITS HEAD S CONTINUOUS INTELY PRE ON INDIVIDUAL N RESIDENT PRINCIPAL NIA FOR FOR FOR THIS	D- DUSLY IN ECEDING VNERSHIP -, F VENDOR - PLACE	
	WHICH A MINI HAS MA BUSINE	HAS AN MUM OF INTAIN SS WIT	AFFI ONE ED IT HIN W	LIATE HUNDR S HEA EST V MEDIA	OR SUBSI ED STATE QUARTERS IRGINIA C TELY PREC	DIARY WESIDEN OR PRINCONTINUO TEDING T	ENT VENDOR HICH EMPLO TS AND WHI CIPAL PLAC USLY FOR T HE DATE OF	DYS ICH CE OF THE	
				SEE RE	VERSE SIDE FOR T		NDITIONS	Control Control	
SIGNATURE						TELEPHONE		DATE	
TITLE		FE	EIN				ADDRE	SS CHANGES	TO BE NOTED ABOVE
WH.	IEN RESP	ONDING	TO RFO	INSER	T NAME AND	ADDRESS	IN SPACE ABO	VE LABELE	D 'VENDOR'



### **Request for** Quotation

RFQ NUMBER FLRCOV07

ADDRESS CORRESPONDENCE TO ATTENTION OF

BETTY FRANCISCO 304-558-0468

\*709022048 304-562-6977 **CUSTOM CARPETS INC** PO BOX 173 713 ORCHARD PARK DRIVE HURRICANE WV 25526

1000000
1 77 1
1 77.31
I TO I
I TO I
I Til
T
II
IXI
IXI
T
O
O
O
O
O
O
О
O
О
О
О
T   O
O
O
O
O
O
O
O
O

DATE PRINT	ED	TER	MS OF SAL	E	SHIP \	ΊA	F.O.B.	FREIGHT TERMS
07/25/2	2006		~					<u></u>
BID OPENING DATE:	77.70.00.00.00.00.00	08/22/	2006			BID	OPENING TIME 0	1:30PM
LINE	QUAN	VTITY	UOP	CAT. NO	ITEM NUI	/BER	UNIT PRICE	AMOUNT
	nang papananggu.			20010.000000000		enogen erosen redoern, oo		<u> </u>
	CEDITE	ICATIO	KI:			•	<b>,</b>	
	~⊏K I T L	TCHITO	i <b>v</b> .					
	B. AP	PLICAT	TON T	S MAD	E FOR 2.5	% PREFE	RENCE FOR THE	
1 1		CHECK		,,				
-								
							CERTIFIES THAT,	
1				1			ERAGE AT LEAST	
1 1							OJECT BEING BID	
1							E RESIDED IN	
1				l	FUR THE F THIS BI		RS IMMEDIATELY	
1	OR	TMG 20	D1.11.22	TON O	L IUI2 DI	Dj		
1		RIDDER	TS A	NONR	ESIDENT V	ENDOR E	MPLOYING A	
1					STATE RE		1	
1 1							R SUBSIDIARY	
	WHICH	MAINTA	INS I	TS HE	ADQUARTER	S OR PR	INCIPAL PLACE	
1 1				I			YING A MINIMUM	
1				I			TIFIES THAT,	
1							ERAGE AT LEAST	
							IATE'S OR	
1 1							F WEST VIRGINIA USLY FOR THE TWO	
1 }				l			OF THIS BID.	
	IEMNS	THILDI	AILLI	FILL	LDING 30B	111331011	or mis bib.	
	BIDDER	UNDER	STAND	S IF	THE SECRE	TARY OF	TAX & REVENUE	
1 1				l			FERENCE HAS	
ļ.	FAILED	то со	NTINU	E TO	MEET THE	REQUIRE	MENTS FOR SUCH	
1 1				1			E DIRECTOR OF	
1 1							CT OR PURCHASE	
<b>;</b>							AGAINST SUCH	
1 1				1			F THE BID AMOUNT	
							THE CONTRACTING ANCE ON THE	
1 1		CT OR	i	l .		WID DWF	MNCE UN INE	
-	CUNTRA	UI UN	, UNUN	735 0	1. J. L. R. 4			
	BY SUB	MISSIO	N OF	THIS	CERTIFICA	TE, BID	DER AGREES TO	
SIGNATURE				SEE RE	VERSE SIDE FOR T	ERMS AND COI ITELEPHONE	NDITIONS: IDATE	
							W/71 %	
TITLE		FE	IN				ADDRESS CHANGE	S TO BE NOTED ABOVE
1 # 21 15	**	ONDUNO:	TO DEO	MOES	T ALABATT ABITS	ADDECO	IN CDACE ADOVE LADEL	ED MENDODI



# Request for Quotation

FLRCOV07

ADDRESS CORRESPONDENCE TO ATTENTION OF

BETTY FRANCISCO 304-558-0468

\*709022048 304-562-6977 CUSTOM CARPETS INC PO BOX 173 713 ORCHARD PARK DRIVE **HURRICANE WV 25526** 

- 1:	
	₽
1.	P
	P
	Р
1.	P
	Р
	P —
	P
	P
	P T
	P
	P T
	P T O
100	P O
	P T O
	P T O
	P O
	P O
	P T O
	P O

DATE PRINTED TERMS C	OF SALE SHIP VIA	F.O.B	FREIGHT TERMS
07/25/2006			
BID OPENING DATE: 08/22/201	06	BID OPENING TIME	01:30PM
LINE QUANTITY U	OP CAT. ITEM NUMB	ER UNIT PRICE	AMOUNT
1 4	EASONABLY REQUESTE ISION AND AUTHORIZ	1	1
i I I	E TO DISCLOSE TO T ROPRIATE INFORMATI		
1 1	D THE REQUIRED BUS RMATION DOES NOT C	1 -	I I
	ANY OTHER INFORMA O BE CONFIDENTIAL.	TION DEEMED BY THE	TAX
CODE 61-5-3), 1	OF LAW FOR FALSE S BIDDER HEREBY CERT TRUE AND ACCURATE	IFIES THAT THIS	
THAT IF A CONTI	RACT IS ISSUED TO IN THIS CERTIFICAT	BIDDER AND IF ANYT	HING
TERM OF THE CO	NTRACT, BIDDER WIL ITING IMMEDIATELY.		
	BIDDER:		
	DATE:		
	SIGNED:		
	TITLE:		
IN EITHER "A" (	MBINATION OF PREFE	" AND "B" WHICH YO	U ARE
ENTITLED TO REC 5% PREFERENCE F	CEIVE. YOU MAY RE	QUEST UP TO THE MA	XIMUM
	NOTICE		
	SEE REVERSE SIDE FOR TER	MS AND CONDITIONS	
SIGNATURE	TE	LEPHONE	DATE
TITLE FEIN	DEO INSERT NAME AND AF		HANGES TO BE NOTED ABOVE



### Request for Quotation

FLRCOV07

PAGE 8

ADDRESS CORRESPONDENCE TO ATTENTION OF:

BETTY FRANCISCO 304-558-0468

\*709022048 304-562-6977 CUSTOM CARPETS INC PO BOX 173 713 ORCHARD PARK DRIVE HURRICANE WV 25526

Transaction I	
1	
1. 1.1	
10101	
1000	
3	
100	
10000	
1000	
150000	

DATE PRINTED	TERMS OF SALE	SHIP VIA	F.O.B	FREIGHTTERMS
07/25/2006				
BID OPENING DATE:	08/22/2006		PENING TIME 01	:30PM
LINE	OUANTITY UOP CAT	ITEM NUMBER	UNIT PRICE	AMOUNT
AN C	RIGINAL, SIGNED I	BID MUST BE SUBMITTE	ED TO:	
	PURCHASING DIVIS	SION		
	2019 WASHINGTON CHARLESTON, WV			
1 5		THIS INFORMATION OF BIDS MAY NOT BE CO		
SEAL	ED BID			
виче	R:	SETTY FRANCISCO - F:	ILE 42	The state of the s
RFQ.	NO.:	LRC0V07		
	Vac	IEDNESDAY, AUGUST 22	2, 2006	
BID	OPENING TIME::	30 P.M		
	ONTACT YOU REGARI			
**************************************		4-562-04	[G	
CONT	ACT PERSON (PLEAS	E PRINT CLEARLY):  NOLL	:	
	LESTE	_	EV	
	ote	REVERSE SIDE FOR TERMS AND CONDI	ITIAN'S	
SIGNATURE	<u> </u>	TELEPHONE	DATE	
TITLE	FEIN		ADDRESS CHANGES	TO BE NOTED ABOVE



# Request for Quotation

SH-P

. O

RFQ NUMBER FLRCOV07 9

ADDRESS CORRESPONDENCE TO ATTENTION OF:

ADDRESS SHARRES TO DE MOTED ADOVE.

BETTY FRANCISCO 304-558-0468

\*709022048 304-562-6977 CUSTOM CARPETS INC

) }	3 RD PARK DRIVE WV 25526	
ATE PRINTED	TERMS OF SALE	SHI
7/25/2006		
ING DATE:	08/22/2006	

FEIN

TITLE

07/2	25/2006				- 1								
OPENING E	ATE:	08/22/	2006					BID	OPEN	VING	TIM	E 0:	l:30PM
LINE	QU/	ANTITY	UOP	CA NO	т. Э.		ITEM NUM	n ar kurukatini ya ya ya ya		Janes I. K.	FPRICE	taliki kiki kiki k	TNUOMA
	<b>***</b>	* THIS	IS	HE	END	OF	RFQ	FLRCO	V07	***	* <b>* *</b>	TOTAL	: 1,293,799.6°
				1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1									
					***************************************								
	1												
			**************************************										
	***************************************				Ned-confessor (Prof.								

# **FLRCOV07 Pricing Schedule**

this additional information. Architectural Folder samples (labeled with bidder name and class from the RFQ) with the bid. Only the purchasing copy is required to have Vendor must identify the products bid. Products must meet Section 11-Requirements to be considered. Bidder must submit brochures and

Type 6.6 Nylon Carpet may be bid on Item 8 only. NOTE: Type 6 Nylon Carpet may be bid for Items 1,2,3,4 & 5. Types 6.6 Nylon Carpet may be bid for Item 6,7,9,10 only. Type 6 and

These pricing schedules have been revised to allow for easier entry of information on each type of carpet/backing bid.

Bidders must complete product specification section and enter cost for each.

Heather Level Loop; Heather/Tweed or Random Pattern; Commercial Grade; Minimum Face Weight: 18 ounces; Minimum Density: 5,000; Maximum Pile Height: .187 (See Specifications - Item 21 - Resistance to Soiling - a.)

item 1

7					Action Backing	g		
Enter Froduct Specifications	CIIICAIIONS:		Est. Oty.	Total		Est. Oty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Bigelow	\$ \$ 1.11	1,642 \$		1,822.62 \$ \$ 1.01	6,318 \$	6,381.18 \$	\$ 8,203.80
Carpet Name:	New Basics 22							
Fiber Brand:	Colorstrand SD							
Number of Colors:	24							
Face Weight:	22oz/yd2							
Catalog Price:								
Recycled Content:			*****					

Enter Product Specifications	reffications:				Vinyl Backing	g		
			Est Oty	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Lees	\$ \$ 3.35	1,000	1,000 \$ 3,350.00   \$ \$ 2.80	\$ \$ 2.80	1,000 \$	\$ 2,800.00 \$	\$ 6,150.00
Carpet Name:	Campus							
Fiber Brand:	Antron Legacy							
Number of Colors:	12							
Face Weight:	20 oz/yd2							
Catalog Price:								
Recycled Content:								

ļ	Ē
i	3
ł	<u>_</u>
I	Š
ı	7
l	=

					I Initant Backi	2		
					Unitary packing	ğ		
Enter Product Specifications:	ecifications:		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sa ft			>1350 sq ft			
Manufacturer:	Shaw	\$ 1.32	1,000	1,000 \$ 1,320.00 \$ \$ 1.15	\$ \$ 1.15	1,000 5	1,150.00	1,150.00 \$ 2,470.00
Carpet Name:	Potential III 26 uni							
Fiber Brand:	Solution Q							
Number of Colors:								
Face Weight:	26 oz/yd2							
Catalog Price:								
Recycled Content:								

					Modular Tile	**		
Enter Product	Enter Product Specifications:		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Bigelow	\$ \$ 2.03	\$,000 \$	1 1	16,240.00 \$ \$ 2.03	8,000 \$	16,240.00	16,240.00 \$ 32,480.00
Carpet Name:	Accountability							
Fiber Brand:	Colorstrand							
Number of Colors:								
Face Weight:	22.oz/yd2							
Catalog Price:								
Recycled Content:								

Item 2

Heather Loop; Graphic Design (Definite Pattern); Commercial Grade; Minimum Face Weight 18 ounces; Minimum Density: 5,000; Maximum Pile Height: .187 (See Specifications - Item 21.0 - Resistance to Soiling - a.)

				Action Backing	Đ.		
Enter Product Specifications	15:	Est Qty	Total		Est. Qty.	Total	Grand Total
	<1350 sq ft			>1350 sq ft			
Manufacturer: Shaw	\$ \$ 1.42		4,846 \$ 6,881.32 \$ \$ 1.24	\$ \$ 1.24	14,831 \$	\$ 18,390.44 \$ 25,271.76	\$ 25,271.76
•							
	۵						
Number of Colors:							
Face Weight: 24 ox/yd2	d2						
Catalog Price:							
Recycled Content:							

Iteli 7 (coll a)					Vinul Racking	2		
Enter Product Specifications:	ifications:				VIIIYI Warani		*	
			Est. Qty.	Total		Est. Oty.	Total	Grand I otal
		<1350 sq ft			>1350 sq ft			
Manufacturer:	LEES	\$ 3.05	1,000 \$	\$ 3,050.00   \$	\$ 2.55	1,000 \$	2,550.00	\$ 5,600.00
Carpet Name:	Building Works							
Fiber Brand:	Invista 6,6							
Number of Colors:								
Face Weight:	20 oz/yd2							
Catalog Price:								
Recycled Content:								
Enter Product Specifications:	ifications:		Est Oty	Total	Unitary Backing	ng Est. Otv.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Shaw	\$ 1.39	1,000 \$	\$ 1,390.00   \$	\$ 1.23	22,226 \$	27,337.98	\$ 28,727.98
	Momentum III Uni							
Fiber Brand:	Solution Q							
Number of Colors:								
Face Weight:	28 oz/yd2							
Catalog Price:								
Recycled Content:								
		3			88 - 4- 3 <b>*</b> 23			
Enter Product Specifications:	ifications:				Woodlar lie	ı		
titor i rounde opco	illounous.		Est. Oty.	Total		Est. Qty.	Total	Grand Total

Manufacturer:
Carpet Name:
Fiber Brand:
Number of Colors:
Face Weight:
Catalog Price:
Recycled Content:

18 oz/yd2

Shaw Instant Style Tile Solution Q

<1350 sq ft 2.16

4,500 \$

9,720.00 \$

>1350 sq ft 2.16

4,500 \$

9,720.00 | \$

19,440.00

Est. Qty.

Total

Est. Qty.

Total

Grand Total

Item 3 Heather Level

Heather Level Loop; Heather/Tweed or Random Pattern; Commercial Grade; Minimum Face Weight: 26 ounces; Minimum Density: 4,900; Maximum Pile Height: .191 (See Specifications item 21.0 - Resistance to Solling - a.)

Colorstrand SD   Colo	7					Action Backing	9		
Sigelow   \$ 1.24   2,866 \$ 3,591.04 \$	Enter Product Sp	ecincations:		Est. City.	Total		Est. Oty.	Total	Grand Total
Bigelow   \$ 1.24   2.896 \$ 3,591.04 \$			<1350 sq ft			>1350 sq ft			
New Basics 26   Colorstrand SD   Color	Manufacturer:	Bigelow	1		3,591.04	1	8,860 \$	9,834.60	\$ 13,425.64
Colorstrand SD	Carpet Name:	New Basics 26							
OIS:   26 oz/yd2	Fiber Brand:	Colorstrand SD							
26 oz/yd2	Number of Colors:								
### Product Specifications:    Froduct Specifications:   C1350 sq ft   C	Face Weight:	26 oz/yd2							
### Product Specifications:    Colors	Catalog Price:								
r Product Specifications:    Colors	Recycled Content:								
r Product Specifications:    Colors									
Column Specifications:   Caty   Cat	Enter Broduct Sp	ocifications:				Vinyl Backing	3		
Colorstrand SD   Colo	Eller Floudet Sp	ecilications.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
LEES			<1350 sq ft			>1350 sq ft			
Attribute	Manufacturer:	LEES		1,000	3,720.00	\$ 3.11	1,000 \$	3,110.00	\$ 6,830.00
Antron Legacy   Antron Legacy   26 oz/yd2   26 oz/yd2   Est. Qty.   Total    r Product Specifications:   Est. Qty.   Total	Carpet Name:	Attribute							
26 oz/yd2	Fiber Brand:	Antron Legacy							
26 oz/yd2	Number of Colors:								
r Product Specifications:    Est. Qty.   Total	Face Weight:	26 oz/yd2							
r Product Specifications:    Sigelow	Catalog Price:								
er Product Specifications:    Colorstrand SD   Est. Qty.   Total	Recycled Content:								
er Product Specifications:    Colorstrand SD   Colorstran						Unitary Backing	6		
Colorstrand SD   Colo	Enter Product Sp	ecifications:		Est. Qty.	Total		Est. Qty.	Total	Grand Total
Bigelow			<1350 sq ft			>1350 sq ft			
lors:	Manufacturer:	Bigelow		1,860	2,362.20	\$ 1.11	18,562 \$	20,603.82	\$ 22,966.02
	Carpet Name:	New Basics 26							
	Fiber Brand:	Colorstrand SD							
	Number of Colors:								
Catalog Price:	Face Weight:	26 oz/yd2							
J. Contract	Catalog Price:								
Recycled Colletts.	Recycled Content:						***************************************		

Item 3 (cont'd)

								- Annual Communication of the
					Modular Tile			
chief Froduct specifications:	ilications.	-	Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Bigelow	\$ 2.33	9,500	9,500 \$ 22,135.00   \$	\$ 2.33	9,500	9,500   \$ 22,135.00   \$ 44,270.00	\$ 44,270.00
	Remix Modular							
	Colorstrand SD							
Number of Colors:								
Face Weight:	26 oz/yd2							
Catalog Price:								
Recycled Content:							-	

item 4

Heather Loop; Graphic Design; (Definite Pattern); Commercial Grade; Minimum Face Weight Weight: 26 ounces; Minimum Density: 4,900; Maximum Pile Height: .191 (See Specifications - Item 21 - Resistance to Soiling - a)

E-4 D	السسطة سسة القادات				Action Backir	ng		
ciner Flounct Specifications	pecifications:		Est. Oty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Bigelow	\$ 1.94	3,642 \$	\$ 7,065.48 \$	\$ 1.25	23,361	\$ 29,201.25	\$ 36,266.73
Carpet Name:	Thumbs Up							
Fiber Brand:	Colorstrand SD							
Number of Colors:								
Face Weight:	26 oz/yd2							
Catalog Price:								
Recycled Content:								
Entar Draduat C	manifications.				Vinyl Backin	ğ		
cille rioduct openiitadolis.	specifications.		Est Oty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	LEES	\$ 3.72	1,000 \$	\$ 3,720.00   \$	\$ 3.11	1,000  \$	\$ 3,110.00	\$ 6,830.00
Carpet Name:	Attribute							
Fiber Brand:	Antron Legacy							
Number of Colors:								
Face Weight:	26 oz/yd2							
Catalog Price:								

	•
	O
į	2
	2
	3
	2
	ä
	OH!
	SUC.
	ont'd
	ont'd
	ont'd)
	ont'd)
	ont'd)

Enter Dreating	* Considerations.				Unitary Backing	ng		
בוונפו הייטעמכ	Enter r rounct openiicanous.		Est. Oty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Shaw	\$ 1.39	960	960 \$ 1,334.40   \$	\$ 1.22	4,260 \$		5,197.20   \$ 6,531.60
Carpet Name:	Momentum III Uni							
Fiber Brand:	Solution Q							
Number of Colors:								
Face Weight:	28 oz/yd2							
Catalog Price:								
Recycled Content:								

Ento: Droding					Modular Tile			
Eliter Flounci	Eller Floudet opecifications.		Est Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Bigelow	\$ 2.33	9,000 \$	9,000 \$ 20,970.00 \$		9,000  8	9,000 \$ 20,970.00  \$ 41,940.00	\$ 41,940.00
Carpet Name:	Remix Modular							
Fiber Brand:	Colorstrand SD							
Number of Colors:								
Face Weight:	26 oz/yd2							
Catalog Price:								
Recycled Content:								

Pattern Loop (Must Have Both Width & Length Pattern Match); Commercial Grade; Minimum Face Weight: 26 ounces; Minimum Density: 6,200; Maximum Pile Height: .165 (See Specifications - Item 21.0 - resistance to soiling - .a)

Item 5

Enfor Broduct Sno	oifinations.				Action Backing	Œ.		
Eillei Froduct Specifications	CHICAHOHS.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	SHAW	\$ 1.55	1,000 \$	1,550.00	\$ 1.36	2,500  \$	3,400.00   \$	\$ 4,950.00
Carpet Name:	Edit							
Fiber Brand:	eco solution q							
Number of Colors:								
Face Weight:	26 oz/yd2					******		
Catalog Price:								
Recycled Content:								

n	o o o o o o o o o o o o o o o o o o o				Action Backing	DO DO		
בוונפו הוסממני	cilles rioduct specifications.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	SHAW	\$ 1.55	1,000 \$	1,550.00	\$ 1.36	2,500   \$	\$ 3,400.00   \$	\$ 4,950.00
Carpet Name:	Equal							
Fiber Brand:	eco solution q							
Number of Colors:								
Face Weight:	[26 oz/yd2							
Catalog Price:								
Recycled Content:								

Enter Product Specifications:	acifications.				Action Backing	g		
Filter + Louder Of	echicogona.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	SHAW	\$ 1.55	1,000 \$	\$ 1,550.00   \$	s 1.36	2,500  \$	3,400.00	\$ 4,950.00
Carpet Name:	Equal							
Fiber Brand:	eco solution a							
Number of Colors:								
Face Weight:	26 oz/yd2							
Catalog Price:								
Recycled Content:								
Enter Droduct Checitications	ecifications:				Action Backing	9		
Tiller - loader of	ecilications.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Bigelow	\$ 1.57	1,000 \$	\$ 1,570.00   \$	1	2,500  \$	3,550.00	\$ 5,120.00
Carpet Name:	Wired							
Fiber Brand:	Colorstrand SD							
Number of Colors:								
Face Weight:	28 oz/yd2							
Catalog Price:								
Recycled Content:								

item 6

Level Loop; Heather/Tweed or Random Pattern; Commercial Grade; Minimum Face Weight: 26 ounces; Minimum Density: 5,300; Maximum Pile Height: .190 (See Specifications item 21 - Resistance to Soiling - .a)

Froduct Specifications:	Cut-					Action Backing	ğ		
SHAW   \$ 1.79 sq ft   1.79	eliter Frounct ape	Cilications:		Est. Qty.	Total		Est. Qty.	Total	Grand Total
SHAW   \$ 1.79   1     Expert			<1350 sq ft			>1350 sq ft			
Expert   Solutia LX    Solut	Manufacturer:			1,000 \$	1,790.00	\$ 1.56	6,210 \$	9,687.60	\$ 11,477.60
Solutia LX	Carpet Name:	Expert							
26oz/yd2	Fiber Brand:	Solutia LXI							
26oz/yd2	Number of Colors:								
trent:    Continuation   Continuatio	Face Weight:	26oz/yd2							
trent:    Continue   C	Catalog Price:								
er Product Specifications:    Continue	Recycled Content:								
er Product Specifications:    LEES		-				Visual Banking	1		
LEES	Enter Product Spe	cifications:		Est Otv	Total	,	Fet Of	Total	Grand Total
LEES			<1350 sq ft			>1350 sq ft			
Attribute	Manufacturer:			\$  000,1	3,720.00	\$ 3.11	1,000 \$	3,110.00	\$ 6,830.00
Antron Legacy	Carpet Name:	Attribute							
26 oz/yd2	Fiber Brand:	Antron Legacy							
26 oz/yd2	Number of Colors:								
tent:  er Product Specifications:  Bigelow Semester Type 6,6 CFNylon lors: 26 oz/yd2  tent:  Est. Quality Calculations:  Est. Quality Calculations:    Calculation Calculations:   Calculation	Face Weight:	26 oz/yd2							
tent:  er Product Specifications:    Semester   Type 6,6 CFNylon	Catalog Price:								
er Product Specifications:  Est. Qi  <1350 sq ft  Bigelow \$ 2.03  Semester  Type 6,6 CFNylon  lors: 26 oz/yd2  Est. Qi	Recycled Content:								
Est. Qt   California   Est. Qt	Entra Description					Unitary Backing	DG.		
Control   Cont	Fine i souder ope	vincations.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
Bigelow			<1350 sq ft			>1350 sq ft			
Semester Type 6,6 CFNylon lors: 26 oz/yd2	Manufacturer:			1,000 \$	\$ 2,030.00	\$ 1.72	7,840 \$	13,484.80	\$ 15,514.80
iors:	Carpet Name:	Semester							
ilors:	Fiber Brand:	Type 6,6 CFNylon							
	Number of Colors:								
Ortion Direct	Face Weight:	26 oz/yd2							
Catalog Filice:	Catalog Price:								
Recycled Content:	Recycled Content								

Item 6 (cont'd)

ונפווו ט (בטוונ ע)								
Entor Broduct Spo	oifiontions.				Modular Tile			
tilles Floudet opecilications.	CHICAUCHS.		Est Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Shaw	\$ 2.71	1,000	1,000 \$ 2,710.00   \$ 2.71	\$ 2.71	1,000 \$	\$ 2,710.00   \$ 5,420.00	\$ 5,420.00
Carpet Name:	Expert Tile							
Fiber Brand:	Solutia LXI							
Number of Colors:								
Face Weight:	[26oz/yd2							
Catalog Price:								
Dowiciad Content:						-		

Item 7

Loop Graphic Design (definite Pattern); Commercial grade; Minimum Face Weight: 26 ounces; Minimum Density: 5,300; Maximum Pile Height: .190 (See Specifications - Item 21 - Resistance to Soiling - .c)

mater Dreading of o	novitions:				Vinyl Backing	Q		
Filter Froduct openiicanolis.	pecilications.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft	-		
Manufacturer:	Lees	\$ 2.96	1,000 \$	\$ 2,960.00   \$	\$ 2.48	1,000 \$	\$ 2,480.00	\$ 5,440.00
Carpet Name:	Faculty IV							
Fiber Brand:	Antron Legacy							
Number of Colors:								
Face Weight:	26 oz/yd2							
Catalog Price:								
Recycled Content:								
Entar Draduat 6	nocifications:				Unibond Backing	ing		
Elital i roddot opeonications	pevilleations.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Lees	\$ 3.59	6,400 \$	\$ 22,976.00 \$	\$ 3.01	24,500 \$	73,745.00	\$ 96,721.00
Carpet Name:	Faculty IV							
Fiber Brand:	Antron Legacy							
Number of Colors:								
Face Weight:	26 oz/yd2							
Catalog Price:								
Recycled Content:								

ŧ	
ŧ	Œ
l	-
E	=
l	
ŀ	_
ŀ	=
ı	Ω
ı	Q
ŀ	=
ı	~
l	C
ŀ	=
ı	_

Hater Droderet Charlingt					Modular Tile			
Files Froduct openincatorio.	Olia,		Est. Oty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer: Lees		\$ 3.95	20,000	20,000 \$ 79,000.00  \$	1	20,000	20,000  \$ 66,200.00   \$ 145,200.00	\$ 145,200.00
Carpet Name:  Faculty IV	ty IV							
	Antron Legacy							
Number of Colors:								
Face Weight:  26 oz/yd2	/yd2							
Catalog Price:								
Recycled Content:								

Item 8

Loop Design; Commercial grade; No Less Than 100 Stitches Per Square Inch; Maximum Face Weight: 20 ounces; Width-Six Foot; Maximum Pile Height: .156 (See Specifications - Item 21 - Resistance to soiling - .b) Bidders should list multiple carpet styles and patterns as available from manufacturer.

Marton Croal and Croa	oifications:			Closed (	Closed Cell Vinyl Cushion	ion Backing		
Eliter Froduct opecifications.	Cincations.		Est. Qty.	Total		Est. Oty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	C&A	\$ 2.82	1,000 \$	2,820.00   \$	\$ 2.82	2,500  \$	7,050.00	\$ 9,870.00
Carpet Name:	CRAYON							
Fiber Brand:	DYNEX SD							
Number of Colors:								
Face Weight:								
Catalog Price:								
Recycled Content:								
nator Deciding 620	nifinations.			Closed (	Closed Cell Vinyl Cushion	ion Backing		
Filter Libeact Obschillendions.	Cilications.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	C&A	\$ 2.82	1,000 \$	2,820.00   \$	\$ 2.82	2,500  \$	7,050.00	\$ 9,870.00
Carpet Name:	SAIL AWAY							
Fiber Brand:	TDX NYLON							
Number of Colors:								
Face Weight:					4			
Catalog Price:								
Recycled Content:								

					Closed	Closed Cell Vinyl Cushion B	on Backing		
Eliter Froduct obeclineations.	pecincanons.			Est. Oty.	Total		Est. Oty.	Total	Grand Total
			<1350 sq ft			>1350 sq ft			
Manufacturer:	C&A	49	2.82	1,000	1,000 \$ 2,820.00   \$		2,500  \$		7,050.00   \$ 9,870.00
Carpet Name:	SAIL AWAY	-							
Fiber Brand:	TDX NYLON			·					
Number of Colors:									
Face Weight:									
Catalog Price:									
Recycled Content:									

Enter Droding	+ Cracifications:			Closed :	<b>Closed Cell Viny! Cushion</b>	ion Backing		
Litter Fround	File: Floudet opecilications.		Est. Qty.	Total		Est. Oty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	C&A	\$ 2.88		1,000 \$ 2,880.00 \$ 2.88	\$ 2.88	2,500  \$	7,200.00	7,200.00   \$ 10,080.00
Carpet Name:	Colored Pencil							
Fiber Brand:	Dynex sd							
Number of Colors:								
Face Weight:								
Catalog Price:								
Recycled Content:								

Enter Broduct Coop	rifinations.			Closed (	Closed Cell Vinyl Cushion	on Backing		
Elico Flounct opecifications	CHICALIONS.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	C&A	\$ 2.88	1,000 \$	\$ 2,880.00 \$	- 1	2,500  \$	7,200.00	\$ 10,080.00
Carpet Name:	Quest							
Fiber Brand:	TDX Nylon							
Number of Colors:								
Face Weight:								
Catalog Price:								
Recycled Content:								
Enter Broduct Specifications:	elfiestions.			Closed (	Closed Cell Vinyl Cushion	on Backing		
	Cilications.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	C&A	\$ 3.24	1,000 \$	3,240.00   \$		2,500 \$	8,100.00	\$ 11,340.00
Carpet Name:	Explorer							
Fiber Brand:	TDX Nylon							
Number of Colors:								
Face Weight:								
Catalog Price:								
Recycled Content:								

# Item 8 (cont'd)

Enter Broduct	r Dunnistantings.			Closed (	Cell Vinyl Cush	on Backing		
Eller Floude	Eller riouact opecilications.		Est. Qty.	Total	otal Est. City.	Est. Oty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	C&A	\$ 3.24	1,000 \$	3,240.00   \$		2,500 \$	2,500 \$ 8,100.00 \$ 11,340.00	\$ 11,340.00
Carpet Name:	Guardian A+							
Fiber Brand:	Antron Legacy							
Number of Colors:								
Face Weight:								
Catalog Price:								
Recycled Content:								

Enter Droduct Specifications	oifinations.			Closed (	<b>Closed Cell Vinyl Cushion</b>	on Backing		
	CHICABOHA.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	C & A	\$ 3.24	1,000	\$ 3,240.00	\$ 3.24	2,500 \$	8,100.00	\$ 11,340.00
Carpet Name:	Sentinel II							
Fiber Brand:	Antron Lumena							
Number of Colors:								
Face Weight:								
Catalog Price:								
Recycled Content:								
Enter Product Specifications:	rifications.			Closed (	<b>Closed Cell Vinyl Cushion</b>	on Backing		
missi i iouani ope	vincations.		Est. Qty.	Total		Est. Oty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	C&A	\$ 3.74	1,000 \$	3,740.00	\$ 3.74	2,500 \$	9,350.00	\$ 13,090.00
Carpet Name:	Infinity							
Fiber Brand:	TDX Nylon							
Number of Colors:	15							
Face Weight:								
Catalog Price:								
Recycled Content:								

Cut Pattern; Commercial Grade; Minimum Face Weight: 36 ounces; Minimum Density: 4,500; Maximum Pile Height .320

Enter Product Specifications	vifications.				Action Backing	ğ		
Time i ouder open	Allegions.		Est. Qty.	Total		Est. Oty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Shaw	\$ 3.04	1,000 \$	3,040.00	\$ 2.62	2,500 \$		6,550.00 \$ 9,590.00
Carpet Name:	RhodesCollectio							
Fiber Brand:	Solutia LXI							
Number of Colors:								
Face Weight:	36 oz/yd2							
Catalog Price:								
Recycled Content:								

Item 10

Cut Solid; Commercial Grade; Minimum Face Weight: 36 ounces; Minimum Density: 4,500; Maximum Pile Height .320

Enter Droderst	Procition to the	_				Action Backing	Ğ		•
minor i rouxor opocimanions.	opeomeanons.			Est. Qty.	Total		Est. Oty.	Total	Grand Total
			<1350 sq ft			>1350 sq ft			
Manufacturer:	Bigelow	69	1.62	\$  891,9	\$ 9,992,16 \$		6,168	9,005,28	\$ 18.997.44
Carpet Name:	Preview II 38					- 1			
Fiber Brand:	Solutia LXI								
Number of Colors:									
Face Weight:	38 oz/yd2								
Catalog Price:		-							
Recycled Content:									

Item 11 - Vinyl Composition
Tile

12" x 12" x 1/8" Tiles - Must have a minimum of 8 colors.

Enter Product Specifications:	tione.				Cost			
The second of th	inone.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
	Armstrong \$	0.75	14,150 \$	10,612.50 \$	\$ 0.75	14.150 \$	10.612.50	\$ 21.225.00
			1					
Catalog Price:								

Item 12 - Vinyl Composition
12" x 12" x 1/8" Tiles - Must have a minimum of 8 colors

Enter Droduct Constituations:				Cost			
Eliver a count operations.		Est. Qty.	Total		Est. Oty.	Total	Grand Total
	<1350 sq ft			>1350 sq ft			
Manufacturer: Congoleum	\$ 0.78	8,200	\$ 6,396.00	\$ 0.78	8,200	\$ 6,396.00	\$ 12,792.00
Number of Colors:							
Catalog Price:							

Item 13 – Vinyl Composition Tile

12" x 12" x 1/8" Tiles - Must have a minimum of 8 colors

Enter Product Specifications				Cost			
minut i como epecanicanica.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
	<1350 sq ft			>1350 sq ft			
Manufacturer: Mannington	\$ 0.76	3,200 (	\$ 2,432.00	\$ 0.76	3,200 \$	2,432.00	\$ 4.864.00
Number of Colors:							
Catalog Price:							
							the statement of the st

Item 14 – Slip-Retardant Modular Tile

18" x 18" x 1/8" Tiles - Must have a minimum of 8 colors

Enter Product Specifications	ifications.				Cost			
			Est. Oty.	Total		Est. Oty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Mannington	\$ 2.55	1,000  9	2,550.00	\$ 2,55	2.500 (	6.375.00	\$ 8.925.00
Number of Colors:								
Catalog Price:								

Labor, Supplies and Services	?PS				Cost			***************************************
Remove Existing Floor Covering	ring	<4,500 sq ft	Est Qty.	Total	>4,501 sq ft	Est. Otv.	Total	Grand Ttotal
•	1	\$ per sq ft			\$ per sq ft		!	
item 15	Rubber Backed Carpet Glued Down	\$ 0.35	\$ 5,365.00	\$ 1,877.75	\$ 0.35	5,365	\$ 1,877.75	\$ 3,755.50
Item 16	Other Than Rubber Backed Carpet Glue	\$ 0.13	\$ 48,527.00	\$ 6,308.51	\$ 0.13	48,527 \$	6,308.51	\$ 12,617.02
item 17	Existing Carpet Over Existing Pad					8,784 \$	878.40	\$
Item 18	Existing Carpet, Pad and Tacked Edge		3,304			3,304 \$	429.52	မှ
Item 19	Carpet Tiles		22,587	N		22,587	2,484.57	\$ 4
Item 20	Vinyl Composition Tile (Non Asbestos)	\$ 0.38	14,270	\$ 5,422.60	\$ 0.38	14,270	\$ 5,422.60	\$ 10,845.20
Padding: Bidder is to descri and pricing. Extra Heavy Tra carpet pad, minimum weight o	Padding: Bidder is to describe the padding by brand name, literature and pricing. Extra Heavy Traffic padding: High density commercial carpet pad, minimum weight of 36 ounces; thickness of 35 inches.	<4,500 sq ft	Est. Qty.	Total	>4,501 sq ft	Est. Qty.	Total	Grand Total
	Rrand Name: Mohawk	\$ per sq ft			\$ per sq ft			
Item 21	Weight: 40 oz							
	Thickness: .420							
Cove Base Installed								
Item 22	Rubber/Vinyl Coils, 120' x 4" x 1/8" thick, all colors	\$ 1.45	28,894	\$ 41,896.30	\$ 1.45	14,447	\$ 20,948.15	\$ 62,844.45
Item 23	Rubber/Vinyl Coils, 120' x 6" x 1/8" thick, all colors	\$ 1.98	7,440	\$ 14,731.20	\$ 1.98	3,720	\$ 7,365.60	\$ 22,096.80
item 24	Transition Strip (per linear ft)	\$ 2.12	3,280	\$ 6,953.60	\$ 2.12	1,640 \$	\$ 3,476.80	\$ 10,430,40
Item 25	Vinyl T-Mold	\$ 2.50	484	\$ 1,210.00	\$ 2.50	242		
Item 26	Toe Moid	\$ 0.75		69 1	\$ 0.75			
Cove Base Purchase Only				€9 '			-	<i>ب</i>
Item 27	Rubber/Vinyl Colls, 120' x 4" x 1/8"	\$ 0.87	7,440	\$ 6,472.80	\$ 0.87	3,720	\$ 3,236,40	
Item 28	Rubber Vinyl Colls, 120' x 6" x 1/8"	\$ 1.27	3,360	\$ 4,267.20	\$ 1.27	1,680		\$ 6,400.80

			<4,500 sq ft		1	>4,501 sq ft	1	<b>f</b>	}
weekends, increase labor rate by 50% for installation)	oor rate by 50% fc	xuays and on or installation)	\$ per sq ft	to: wy.	Ģ	\$ per sq ft	not wy.	Otal	Grand Fotal
Item 29	7:00AM to 5:00PM	Direct Glue Down Method	\$ 0.84	79,812	\$ 67,042.08	ļ.	79,812	\$ 67,042.08	\$ 134,084.16
Item 30	7:00AM to 5:00PM	Double Stick Method	\$ 1.33	9,244	\$ 12,294.52	\$ 1.33	9,244	\$ 12,294.52	\$ 24,589.04
Item 31	7:00AM to 5:00PM	Stretch Method	\$ 1.09	3,060	\$ 3,335.40	\$ 1.09	3,060 \$	\$ 3.335.40	\$ 6,670.80
Item 32	7:00AM to 5:00PM	Carpet Tile		44,360			44.360 S		
Item 33	7:00AM to 5:00PM	Six Foot Wide -							
	***************************************	Closed Cell Vinyl Cushion Backing \$	\$ 1.23	12,500	\$ 15,375.00	\$ 1.23	12,500 \$	15,375.00	\$ 30,750.00
					***************************************				
Item 34	7:00AM to 5:00PM	Installation of Vinyl Tile 12" X	\$ 1.89	19,260	\$ 36,401.40	\$ 1.89	19,260 \$	36,401.40	\$ 72,802.80
			Reg Hourly Rate	Est. Qty.	Total	Reg Hourly Rate	Est. Qty.	Total	Grand Total
Item 35	Hourly Rate For Labor To; Move Furniture, Additional Floor Preparation, Install Bordering/Patterns	To; Move loor Preparation, ms	\$ 45.86	94	\$ 4,310.84	45.86	188	21.68	\$ 12,932.52

All work must be provided at the WV Department of Labor prevailing wage rates established for each county.

Phone No. 304-562-6927 FAX No.: 304-562-6476 Email: 1adyrugrat@prodigy, Net Number of years in Carper / Floor covering business: 53	Vendor's Authorized Representative - (Print Plainly or Type): MARIAGN Name (Print)  Name (Print)	Signature of Vendor's Authorized Representative: Manual Authorized Representative: Manual Authorized Representative:	Name of Vendor: <u>U.STABN</u> (ARPETS INC hereby certify under penalty for fraud that all products listed meet specifications contained in FLRCOV07.
---	--	--	---

Bids without this signature validation will be disqualified.

WV-36a STATE OF WEST VIRGINIA PURCHASING CONTINUATION SHEET	Buyer:	Page	Req. or P. O. No.: FLRCOVO7
Vendor:	Spending Un	it:	1/ 10/00000
	<del></del>		
B	oguialtian N	la i	
T.	equisition	10.:	
ADDENDUM ACKNOWI	_EDGEMEN	IT	
I hereby acknowledge receipt of the following che the necessary revisions to my proposal, plans and	cked adder d/or specific	ndum(s ations,	) and have made etc.
Addendum No.'s:			
No. 1			
No. 2			
No. 3			
No. 4			
No. 5			
I understand that failure to confirm the rece ejection of bids.	ipt of the ad	ldenduı	m(s) is cause for
	rstom (	gnature ARF ompany 106	PET INC
Exhibit 10 Rev. 11/96			

### **AFFIDAVIT**

### West Virginia Code §5A-3-10a states:

No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owned is an amount greater than one thousand dollars in the aggregate.

#### **DEFINITIONS:**

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Debtor" means any individual, corporation, partnership, association, limited liability company or any other form or business association owing a debt to the state or any of its political subdivisions.

"Political subdivision" means any county commission; municipality; county board of education; any instrumentality established by a county or municipality; any separate corporation or instrumentality established by one or more counties or municipalities, as permitted by law; or any public body charged by law with the performance of a government function or whose jurisdiction is coextensive with one or more counties or municipalities.

"Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

### **EXCEPTION:**

The prohibition of this section does not apply where a vendor has contested any tax administered pursuant to chapter eleven of this code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

### LICENSING:

The vendor must be licensed in accordance with any and all state requirements to do business with the state of West Virginia.

### **CONFIDENTIALITY:**

The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures and rules. Vendors should visit <a href="https://www.state.wv.us/admin/purchase/privacy">www.state.wv.us/admin/purchase/privacy</a> for the Notice of Agency Confidentiality Policies.

Under penalty of law for false swearing (West Virginia Code, §61-5-3), it is hereby certified that the vendor acknowledges the information in this said affidavit and are in compliance with the requirements as stated.

Vendor's Name:	I USTOM (	PARPETS	INC	2 .		
(Authorized Signature:					8/23/06	
					•	

No Debt Affidavit Revised 02/08/06